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If deg(P) < deg(Q), then is called ”proper”. (] 0 )
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The denominator Q)(x) is a product of a distinct linear factors.
Case 1 3 9
wlin : Q(x) = 2x° + 3x” — 2z = (22 — 1)(x + 2)
Parti?,fffiéions e The denominator QQ(x) is a product of a distinct linear factors, some of which are repeated.
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The denominator ()(x) contains irreducible quadratic factors, none of which is repeated.
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Let u = vVax +4. Thenu? =z +4, soz = u? — 4 and dz = 2u du.
vz +4 U u? 4
Rationalizing / T az = 2“ du = 2/ u2 — 4 du =2 /(1 | u2 — 4) du
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CSC T CSC T CSC T 2
5 ) n sinr . 4
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